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QUESTION 1

Which two statements are correct regarding NHTB? (Choose two.) 

A. The NHTB table can be viewed with the command get nhtb. 

B. The NHTB table can be viewed with the command get interface . 

C. The NHTB table can be viewed with the command get interface . 

D. NHTB is enabled automatically when multiple VPNs are bound to a single tunnel interface. 

Correct Answer: BD 

 

QUESTION 2

You have entered the following OSPF configuration: 

-

Setvrouter trust-vr protocol ospf 

-

Setvrouter trust-vr protocol ospf area 10 

-

Setinterface e0/0 protocol ospf area 10 

-

Setinterface e0/0 protocol ospf enable 

-

Setinterface e0/1 protocol ospf area 10 

-

Setinterface e0/1 protocol ospf enable 

OSPF is not working. What is missing from your configuration? 

A. You have not assigned any interfaces to area 0. 

B. You have not enabled OSPF on the virtual router. 

C. You have not set the costs on the OSPF interfaces. 

D. You have not configured OSPF neighbors on the interfaces. 

Correct Answer: B 
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QUESTION 3

You have configured set nsrp vsd-group master-always-exist on your ScreenOS device. 

What does this do? 

A. The NSRP protocol will not initialize without a master. 

B. This device will always be master in the NSRP cluster. 

C. There will always be a master device in the NSRP cluster. 

D. The vsd-group will always be homed to the master in the NSRP cluster. 

Correct Answer: C 

 

QUESTION 4

What must be configured differently for a route-based VPN and a policy-based VPN? 

A. proxy-id 

B. proposals 

C. remote gateway type 

D. binding the tunnel interface 

Correct Answer: D 

 

QUESTION 5

When enabling RIP over a hub and spoke VPN, what must you configure on the hub device tunnel interface to allow
spokes to receive routing updates? 

A. Point to multipoint 

B. Disable split-horizon 

C. Enable demand circuit 

D. Enable passive interface 

Correct Answer: B 

 

QUESTION 6

You enable run time object (RTO) sync on the NSRP cluster. 
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Which command will provide RTO message sync counters? 

A. get nsrp rto 

B. get count stat 

C. get rto counter 

D. get nsrp counter 

Correct Answer: D 

 

QUESTION 7

Click the Exhibit button. 

In the exhibit, which two statements can be verified from the debug output? (Choose two.) 

A. The routing decision used the default route. 

B. Traffic is arriving from the virtual system CustA. 

C. Traffic is departing using the root virtual system. 

D. The matched policy is from a custom zone to a system-defined zone. 

Correct Answer: BD 

 

QUESTION 8

Which three interface types are supported in virtual systems? (Choose three.) 

A. subinterfaces 
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B. VPN interfaces 

C. shared Interfaces 

D. limited Interfaces 

E. dedicated Interfaces 

Correct Answer: ACE 

 

QUESTION 9

You have created a NAT-src policy that runs between the Private zone and the Public zone. When looking at a session
in debug output, the translated address is not what you expected. 

What are two explanations? (Choose two.) 

A. A VIP defined on the egress interface is overriding your NAT. 

B. A MIP defined on the egress interface is overriding your NAT. 

C. Your source IP address is outside the range of your IP shift pool. 

D. The source interface is in NAT mode overriding your NAT-src policy. 

Correct Answer: BC 

 

QUESTION 10

Which three events would cause ScreenOS devices to generate SNMP traps? (Choose three.) 

A. cold starts 

B. traffic alarms 

C. warm reboots 

D. self log events 

E. traffic log events 

Correct Answer: ABC 

 

QUESTION 11

Click the Exhibit button. 
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Given the routing table in the exhibit, which interface will be used to reach the host at 10.1.20.1? 

A. tunnel.1 

B. tunnel.21 

C. ethernet0/2 

D. ethernet0/4 

Correct Answer: C 

 

QUESTION 12

You have entered the following command: 

set ffilter src-ip 1.1.7.250 dst-ip 10.1.10.5 ip-prot 6 

What will be the resulting output in the debug for which this was created? 

A. If the packet has a src-ip of 1.1.7.250 or a dst-ip of 10.1.10.5 or has TCP as its protocol then it will be captured 

B. If the packet has a src-ip of 1.1.7.250 or a dst-ip of 10.1.10.5 or has UDP as its protocol then it will be captured 

C. If the packet has a src-ip of 1.1.7.250 and a dst-ip of 10.1.10.5 and has TCP as its protocol then it will be captured 

D. If the packet has a src-ip of 1.1.7.250 and a dst-ip of 10.1.10.5 and has UDP as its protocol then it will be captured 

Correct Answer: C 

 

 

QUESTION 13

Which parameter do you adjust on a static route to create a floating static route? 
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A. cost 

B. metric 

C. weight 

D. preference 

Correct Answer: D 

 

QUESTION 14

You have taken your backup ScreenOS device out of production for some maintenance. The device is brought back
online and rejoins the NSRP cluster. You determine that the two devices are out of sync. 

Which command will sync the devices and on which device should it be run? 

A. set nsrp sync global-config save run on the Master 

B. set nsrp sync global-config save run on the Backup 

C. exec nsrp sync global-config save run on the Master 

D. exec nsrp sync global-config save run on the Backup 

Correct Answer: D 

 

QUESTION 15

Which ScreenOS CLI command is necessary for configuring IGMP on interface ethernet0/1? 

A. set igmp interface ethernet0/1 

B. set multicast interface ethernet0/1 

C. set interface ethernet0/1 igmp router 

D. set igmp interface ethernet0/1 enable 

Correct Answer: C 
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